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Write Linear Equations in
Point-Slope Form

Goal -Write linear equatio'ns in point-slope form.
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POINT-SLOPE FORM
The point-slope form of the equation of the nonvertical

line through a iiven point (x4, y4) with a slope of m is
— = m -—
p

m Write an equation in point-slope form
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Write an equation in point-slope form on the line that
passes through the point (3, 2) and has a slope of 2,

Solution
Y =Yy =mx — x4) Write point-slope form.
‘ Y""“ Q = 3 ()( i Bﬂ ' Substitute A for m, 3 for x,,

and Q fory,.
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Because the equation is in point-slope form, you know
that the line has a slope of 2‘-_ and passes through the

point (2,2). X2 2 1%\_=2.

Plot the point Find a second point on the line
using the s\oge . Draw a line through the points.
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0 Checkpoint Complete the following exercises.

1. Write an equation in point-slope fi of the line
that passes through the\polnt (—3, 5)land has a
\slope of 4 -

pls| Y-8 =4 (x+3) |

2. Graph the equatiorL{ .:I{'i)-—- 2(x —-@
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m Use point-slope form to write an equation

Write an equation in point-slope form of the line shown.
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\ CHECK UneckK that the equations are equivalent by
writing them in slope-intercept form.
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Solution
Step 1 Find the slope of the line.
R\sr-
= |‘Ldr~J
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Step 2 Write the equation in point-slope form. m ,S[(o
You can use either given point.
Mothod 1 Use|(~2, —3)] Method 2 Use (4, 2).| —
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You can also find
the y-intercept
using the
coordinates of the
other given point.
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Use Linear Equations in
Slope-Intercept Form

Goal. - Write an equation of a line using points

on the line.

Example@ Write an equation given two points

Write an equation of the line that passes through
1(2, —3ﬂandi(-—-2, 1).!

Solution
Step 1 Calculate the slope.
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Use the slope and the point
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Step 3 Write an equation of the line. IN SLoPg JNTEL cepT(Whed Ask fb)

Write slope-intercept
form. '
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o Checkpoint Complete the following exercise.

2. Write an equation for the line that passes through

(—8, —13)[and, (4, 2). ]
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Wnte an equation for the line that passes through
( 3, 4) and| (1, —2).
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HOW TO WRITE EQUATION
SLOPE-INTERCEPT FORM \5-“1*5 l :
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2. Given slope m and one Qomt.
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SIS Writing Equations for Horizontal and
Vertical Lines
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e ' The equation of a HORIZONTAL LINE is \I =p where \n = ginkme?f and
L . Z_ . ' s /a b 3
the siope is LCro _ > L2,

e The equation of a VERTICALLINEis X = O_ where QL= X inlercept and
the slopeis _()NQEFINED ; (CLJ O.)

EXAMPLE 1
o  Write the equation of the line that goes through the points (5, -2) and (5, 2) = B k
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e  Write the equation of the line that goes through the points (-3, 2) and (3, g‘) \/:-r ;)
e - oY 22 [+3 . |
SIEPT . Fiws M T5s ST U @0
ST Sceten 1 WS '
== % o >4 SE/ST Fiwn Y=mx+b
s —> m=0 balZ
| X o
\ ¥ ,oxﬁ- Z
|7=2]

EXAMPLE 3 ‘ \
e  Write the equation of for the Horizontal and Vertical Lines that £0 throughthe%int(i 10)
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